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PART

-A: General Knowledge

1. When was the Madras State renamed as Tamil Nadu ?
(A) 1968 (B) 1971 (C) 1969

(D) 1970

wggrev Bl e1iCung SIOPBIEG erer QL LIppLh Quppe 2
(A) 1968 (B) 1971 (C) 1969 (D) 1970

2. is called “Coagulation Vitamin”.
(A)B, (B) E (©) K (D) A
@ussLb ;;'m_a)wsmma%@Lb o uNiTE g5
(A) B, (B) E © K ((DYHA

3. In which district of Tamil Nadu Indira Gandhi Wildlife Sanctuary is located ?
(A) Coimbatore (B) Erode %@
(C) Kancheepuram (D) Tirunelveli B

SUIpBM 196 QBESIsTEE euenalevniy FremTWLD eThs UL LSS
D GOLOBSIGTOTS| ?

(A) Csmubysgmir (B) #Gun

(C) smep&ygib (D) 5molraGaald)

4. Match the following :
I) Vellore Revolt a) 1831
IT) Kol Revolt b) 1859
III) The Great Rebellion c) 1806
IV) Indigo Revolt d) 1857

I IT 11 1V
(A)c d a
B)c a d
(C)d e b
D)a b ¢

s

o oo
[E7E

Cunwé s :

I) Geugyriir yp” & a) 1831
Il) Camed Qenisd b) 1859
II) Qumrisevasb c) 1806
IV) s@pevssnu Senisd d) 1857

I II 1II 1V
(A)c d a b
B)c a d b
C)d ¢ b a
Dya b ¢ d

e o s e
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5. What is the chemical used to detect any lecakage in LPG cylinders ?

(A) Mercaptan - — (B) Propanc

(C) Butane (D) Methane

LPG Sallewriisefled eunusafalenars ses_pli 16t Gou) L1 GILIT(H6iT
pwSTUBSSLILG S g E5E

(A) QuiGsLi_air (B) LGurGuehr  Biekt

(C) Sy - Gr_eir (D) 155Gszeir

6. POCSO Act, 2012 gives protection to whom ?
(A) Girl child below 18 years of age hitpsg/it me/karthiksCA

(B) Male child below 18 years of age

(C) Both Male and Girl child below 18 years of age

(D) Female above 18 years of age

CunadGem &1 1ib, 2012 wné@ ungSTLILNGHDS ?
(A) 18 euwg Blobuing Gluessr @Lpbens

(B) 18 auwgy BloibLing 68t &LpHens

(C) 18 euwg Blibring gy,6v7 LoHmitb GlLIGwT GHLpHens
(D) 18 auwgy Blubifw Gt Gpians

7. Phenolphthalein as an indicator which gives colour in basic solution.
(A) Green (B) Blue
(C) Yellow (D) Pink

SermiseSesr @ Apriistiiy, @& s17é samsaley 6lar()S@L FpLb

(A) usens (B) Bevib @y
(C) wsear (D) @eresPeuciy it

8. Boston Tea Party in 1773, incident was related to War of Independence.
(A) Russian (B) French .

(C) American (D) Chinese

1773-@Q\eb Pagpis unev_cir Gafit al@Hg aBs B0 SEsmavts GurmL e
@éﬂf-_ﬁumf__ng

(A) goipwr (B) gneiren

(©) «@wssm (D) @own

e it - e e i i, i, e A s i i i e i i



9. Who is Malala Yousaf Zai ?
(A) A Pakistan activist for fem
(B) Beauty Queen — 2021

(C) Olympic medal winner
(D) Pakistani Actor

ale education
athlete from Pakistan

Loevrevr W&l smy GTGSTLIGUT Wit ?
(A) Cuehr s6vadsesres Lnglevgnesti gy raie
(B) 2021 &7 L& Trewst)
(©) @aibi9s LS&&D Gleusttp Ln@evgnet sL_seor afgi
(D) unr®eivgmeir BLY&T
10. Choose the correct option.

1) Linear motion a) Movement of a swing

11) Circular motion b) A particle falling vertically downwards to the Earth
i1i) Rotational motion ¢) Motion of satellite around the Eartl} r@g;t;]
iv) Vibratory motion d) Spinning of Earth about its own axis ot
i il v
(A)b ¢ a d
B)d a c b _ https://t. me/karthiksCA
C)b ¢ d a _
MD)c a d b

FMwnes @)enentenuwisd Caiin05®).
1) CrigGsm’ B Quésd a) sargheadler Q@ uissLD

1) au't @Quésid b) yalulewer Crra® alwpd QLimmeir
i) #pP& QuidsLb ¢) yaillewass &pmith QlFwpHensdGsmer @)uidsib
V) @ia @udsLb d) @idemsls Qunpigs sereaidsnGer spmith LiLh)
i i i v
(A)b ¢ a d BEgE
B)d a ¢ b E%g%
CGb ¢ d a
(D)c a d b
11. Glucose is a
(A) Disaccharide (B). Monosaccharide
(C) Polysaccharide (D) Isoleucine
&@5s%Gsman G165TLIG)
(A) @uLlenL & giigsag (B) gpenné sidgseny
(C) sl & gridsang (D) @2Gsngyenasir
12. The author of the book “The Monk Who Sold His Ferrari” is
(A) Shiv Khera (B) Robin Sharma
(C) Prakash Aiyar (D) Stephen Covey
“The Monk Who Sold His Ferrari” eratrp Lgssdens eTlpBweurt
(A) afles Gagm (B) omSeyr giom

(C) gsmay g (D) eovie il Garad

P s s i G - o A . e i AP 1 S s s — :
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13. Find the correctly matched pair,

(A) Garlic — Anti inﬂammatory cures skin disease

(B) Cardamon — Cures for skin and urinary problems
(C) Red Chilli — Used to reduce blood sugar
(D) Asafoetida — Vitamin — A rich

gilwmest @mmmmm G,@ﬁb'),! B https://t. me/karthiksCA
(A) yer® — 18y oypp&), Gemed aflwr@enws GewrLiu(BhSSILb
(B) gevssmis — Gemed wppib Hmyrs Camernmisenar Fif Gleuiufid
(C) Fautiy hlensmis — Qns5586 siédsenguier ot s HLILIGSSILD
(D) Clu@GrsTUD — 2 Wiisasg A LDGSwneng) E?é’}'
e BE
14. Mac Mohan line is the boundary line between
(A) India — Pakistan
(C) India — China

(B) Pakistan — Kashmir

(D) India — Afghanistan

“Gg Cormseir Cam®)” erepeapssiL@Ld erevenevd Cxr® e1BS @)
BIhSE%5&H @enr_ Cwiwimerg)
(A) @pBwr — LunHevsmesr
C) @QpHwmr — Fesrr

(B) un®evsner — srauLsim
(D) @pswr — gy ismetlavsrar

15. Statement I : Karur is known as “The Textile Capital” of Tamil Nadu.

Statement II : Tamil Nadu is the second largest software exporter in the country next to
Karnataka.

(A) T only correct (B) II only correct

(C) Iand II correct (D) Iand II wrong

aursGuib I : sepi “SLOpBIL 1967 CBFaS Semev FEILD” eTRIDLPESLILIHS DS
qursGuwid I1 : prL’ 196571 QLoGTRLITGET THIILLBUI) SHBTL_HT0ysE HBSSS5TS SLOUPBTH
@uem_raug Qufu agpmio ClFdiuyib wrfleviors o @raTg.
(A) I " @®b &l (B) II o @b &M
(©) I dayib I1 &M (D) I opmyid 1T gougy ESE
B

16. The Headquarters of ‘BRICS’ organisation
(A) London (B) Shanghai
(C) Bombay (D) Dhaka

Bféev yaniorifer saaverotiitb Syeniopgierer @)L b
(A) everre_cir (B) egnmismis
(C) wbumis (D) _ndam




17.

18.

19.

20.

-G-

; : d on, they sometimes /%
Statement I : When the car enginc is started with headlights turne T

become dim.
Statement I1; Due to the internal resistance of the car battery.
(A) I only correct (B) 1 only correct
(C) 1 and 11 correct (D) 1and Il wrong

w& &L Cung),
UTEHunp 1 : Siflev wpsLiy Qﬂm&@ mrﬂu_’w ﬁmwuﬁlw GTGETQ-YGDGUT @ (C] £1]

WLy aeré@ar Qurailay iP5 @ePDULD- {Z;Ijggl

UTES WD 1T : &7fch 2_sirar LAGHSSD T HLIIGHTS L A SLD-
(A) T " @b oM (B) 1I o @b &l
(O) I opmyid 11 &M (D) 1 wpmd 11 sauDI

is the current increase in temperature of the Earth’s surface as well as its Ll
atmosphere. https://t.me/karthiksCA
(A) Global warming (B) Acidrain
(C) Climate change (D) Environment
Blevid wopmib B o eirer_s@w Lyh wpmid euefoesr_evb SHGCLITGS 9B F MG LD
Oauiu BlevevenwsGus 61651 &H G TLb.
(A) yal Qeuliwwiorgsed (B) @yhlav Loemp
(C) &snmev Blewev aPwLD (D) &pm1&@sLpev

The Oscar Awards for the best documentary was given to which among the following ?

(A) The Elephant Whispers (B) Allis quiet in the Northern Front
(C) Slumdog Millionaire (D) Dunkirk

LG ToUBLD GThS PpeUewTL! LIL 8D G “ avast alms)” QUPEBISLILIL L & 9
(A) B e16d6luesTL adlevLiien (B) e @av @ui’ Qe 8 Eﬂﬁgﬁm e

(C) evevibL_ms LhlevaSlwiestit (D) Lewr@iis
Find out the wrong pair.
I) Vedanthangal a) Chengalpet
IT) Point Calimere b) Vilupuram E-Pkégl
III) Mudumalai ¢) Nilgiris GES
IV) Mundanthurai d) Tirunelveli
(A) I-a (B), II-b C) M-c¢ D) IV—_4g R

FUDTGT (Q)eHERTEOW FHGUSTL_ 15,

) GauL_pgmmisev a) OemissbuL (5

1) Gasmywsseng b) eflapriymh
11I) wpgiLoamev c) b

1V) pevsr_pbgieom d) BB0EGaad
(A) 1-a (B) II-b (©) m-¢
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- 1) GsCsn@p sBisen
D) o Garn(p @6

21. Jaisalmer wind park is located in

(A) Gujarat (B) Rajasthan

(C) Odisha (D) Madhya Pradesh

G’gguﬁrad?wﬁ. STDMI LYBIST Q)60 Y LOHSIGTOTS)-

(A) &&ITS (B) @umeavvgmet

[C) gyt (D) wsHwir 195CssLD
22. Children’s Day is celebrated on Nov. 14" because g’%’?

(A) Itis the birthday of Tr. Jawaharlal Nehru ™
(B) It is the birthday of Mahatma Gandhi

(C) It is the birthday of Tr. Subash Chandra Bose
(D) It has been declared so by UNO

GLBESSEIT Seib peutbur 14 b Gs8) Qe m_L1LIBSDSTET & MIGHTLD
(A) §@. geuaniewned Crw Hyaursafcr Ipbs Ferid

(B) o&rsLom &5 geuisaller Apps Sewrib

(C) 8. sumey sHZy Grimenw yeuisefet Lphs SerLd

(D) 258w BHSET FeL Q)6 Y NEE DY

23. Match the following :

I) Law of Constant Proportion a) Sir William Crookes

II) Cathode rays b) James Chadwick

III) Anode rays c) Joseph Proust

IV) Neutron d) Goldstein

I I I Iv

(A)c a d b https://t. me/karthiksCA
B)a b ¢ d @EzE

©b ¢ a d Ei?%

Md a b ¢
Ouns15 :

D) wipr @995 9% a) & aflebaSltd &epsav

b) Gegbeiv s ails
¢) Gegrats LiGlgaravL.

V) Dy grcin d) GamevL eviea
=1 IO m 1v

(A) Cc a d b

Ba b ¢ d
' _(C) b ¢ a d

Dd a b ¢
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24. The list of eligible voters is called as

(A) Electoral roll (B) Campaign roll
(C) Polling roll (D) Nomination roll
6T J;@mgpésa;ﬂu@@ﬂ’@"

SGBerer urssTeniselci LI 19 16D
(A) eumrssment LI 19060
(C) aumdseliL) UL 1gw6d

(B) wpgLiLjews 1Jl-'—U)JU6.iJ o)
(D) Blwioat! LI 1g e

25. Match the following :

I) Prithviraj Chauhan a) Slave Dynasty
II) Qutub-ud-din Aibak b) Rajputs
I1I) Chengiz Khan c) Sayyid Dynasty
IV) Khizr Khan d) Mongol

1 I Il IV
(A)a b ¢ d
B)d ¢ b a
(C) LA ¥ https://t.me/karthiksCA
Myc d a b
QuUTBSSIS :

) Ssalgng GCleasmet a) ILQEVLD QULDFLD
1) @suBer gblus b) @urgusHui
) GlFri&HevsTast C) &FWSG| GULDFLD
IV) §&i sret d) omGasmaSlwit

I I I 1v
(A)a b ¢ d
B)d ¢ b a E%‘-:—'g
©Oba d ¢ °
(Dyc d a b

26. New species originates by the gradual accumulation of favourable variations — was told by
(A) Darwin (B) Lamarck
(C) Louis Pasteur (D) Ernst Hackel

LIe SE@LPEPSTS LIGLILIGIWNE DL L. sTgsonet GeaupiLin®sefer
QsngLleama LBw EPPaTBiseT o GuUTESIDS) eTeiny Fnplicut
(A) Lmiafle (B) evmomiss

(C) ey mavLgwir (D) ericiev. Qandsey

EE———
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27.

28.

29.

30.

9

which of the following mineral deficiency causes anaemia ?

(A) lodine (B) Calcium (C) Sodium (D) Iron
ips&eL SIS BNSI2 Ll Gepailamey @ss Csrms gpuGEDS 7
(A) HGwrget  (B) smev@unb (C) Gemgquib (D) @wtoL
According to 2011 census which State of India has lowest literacy rate ?
(A) Uttar Pradesh (B) Bihar
(©) Maharashtra (D) Odisha
2011 b &&T6sTemE sewrsCls@ler Ly @BBwrailsr 61b5 waBled &DbS
ﬂ@‘gggﬁa; &g Olsres(Berarg ? @46
(A) _o_g';@aﬁr. rGgaLb (B) ismi E%’gé
(C) Lo&STITOHLG I (D) egopr
The first telescope was invented by
(A) Johann Lippershey (B) Galileo
(C) Johannes Kepler (D) Claudius Ptolemy
(pS&HT (LS QarenaCEréFenw o Heurs:EweuT
(A) Gerzeir allLigGag (B) sa9a0Gwm
(C) Geyrseirasany GlsLiaTT (D) Sermgwav revLdl
https://t.me/karthiksCA
Match the following :
State Crops
I) Karnataka a) Oil seeds
II) Assam b) Rubber
III) Kerala c) Tea
IV) Gujarat d) Coffee
I II IIT IV Qi
(A)d ¢ b a
B)a b ¢ d
Cc d b a
Db ¢ a d
QunGsss :
LomleoLd LiuSiEeT
D) simm_sm a) O AL
I syevevmb b) @uuu i
Il) Gsyerm ¢) Golop By
IV) @egons d) smnd E
I II 11 1V
(A)d ¢ b a
(B)a b ¢ d
©c d b 1
(D) b c a d
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31. Taxes can be used as an instrument for controlling
(A) Inflation (B) Deflation (C) Stagflation (D) Disinflation

eurfl eTedTLIZ]
(A) uewradsstds  (B) wewreunii b (C) GCsésaissd (D) wer Lemaidssib
EEE
5

32. Which Newspaper was started by Tilak ?

(A) Commonwheel (B) Kesari

(C) Chakaravarthini (D) Swadesamitran

Hevasgned QFm_msLLl L ugHMsamsuileT Cluwi https://t me/karthiksCA
(A) smweitaied (B) Gsarl

(©) sépauisSash (D) 5GzahsBen

33. Marine organisms such as Snails, Oysters Shell is made up of
(B) Calcium Chloride

(D) Calcium Oxide

(A) Calcium Carbonate
(C) Calcium Sulphate

BheaSser, S50 CLITEID &SL_GVaITLD o ufewmisaner Gocd @BHSHET GTSETTGD

2 (HeunSSLILIGE DS

(A) srev@uwid sriGesrL (B) smev@uwid &Carmenr(h

(C) srevfuwih FevGLiL” (D) smev@uwiLb g semen (b

- - - - f? -
34. Which is the capital of Ukraine * . g%%
(A) Moscow (B) Kiev
(D) Lviv

(C) St. Petersburg

2 GO IGsET SEGVBHILD 6185/ ?
(A) omavGam
(C) Qeudeir” 191" L fiev LTS

(B) @eus

(D) aSlailels

35. Fuse is a strip of alloy wire which is made up.of
(A) Antimony and tin (B) Lead and tin
(C) Platinum and lead (D) Copper and iron

LBt 255 6155 2. Bavnsd HeeIUIGHTTEL SwrhésILGEDSI

(A) gyavig.oenfl pmLb SmfwLb (B) Geusirafwib opmitb Sriwib

(C) Wern”g.arib wpmith Geuerafunb (D) gmblgb wpmitb @@sLdL

@8 SLQUILESSID FBaINGT RETDTs LIWGTLB S5 IO F DS

¥
1




1. -

ﬁﬁ hat is the expansion of RT-PCR ?

e 30 A Real Time — Pol?fmerase Chain Reaction

B) Reverse Transcription — Polymerase Chain Reaction
) Reverse Transcription — Positive Chain Reaction

) Reverse Transcription — Polymerase Covid Reaction

RT_PCR @G‘ﬂ' aflfleunssid ereires ? gﬁ.‘; https://t. me/karthiksCA
(A) Awed ewLtb — unedCrev Gleudeir MW TE 61 63T E].ﬂg

(B) Aeurie gomaTavElMliaps — LrelwGrev Qauisr MwnsayeT

(C) Aeuriaiv g omeTOVEMIapeT — LTSy 6l Qauileir Mwrdaue

(D) Aeuriev @ omeTev@liaye — LimrelGreav Carall. Mwimsaye

17, .\r}-.gmamitra’ a lady robot — related to

(A) Gaganyaan Mission - (B) Mangalyaan Mission

(C) Chandrayaan Mission (D) PSLV — C46 Mission

- QumoAGom erestapLb ‘Ouiessr ConGum s1agyL6ir Glgm_iLjeoL-WS] ?
(A) saeTWITET L Lb

(B) wAisaTwnet L tb

(C) eB@rmueT St Lb (D) 19.c1a0.6760.69). — & 46 S L_Lb

38, Statement I : Three systems of revenue collection had been introduced by the British.
Statement II : ‘Ryot’ means cultivator.

(A) T only correct (B) II only correct

(C) I'and II correct (D) Iand IT wrong

wtsGwib I : M@ GawisemTed pPETDI QUEHEILITET QUBRUMLI GUFH6V (LPGHD
MpSLILIBSSILL LG |

wts@uwid I : gwd erespred aflougmud) e16ipl QuimpeT. Eﬁ‘}'

(A) 1 o @b #A (B) 1l o @b &M Bt

(C) I opmyep 1T & (D) 1 wppid Il saim)

39. India’s Gaganyaan Mission is related to

(A) Human Space Flight Programme

(B ) Artificial Rain Scheme https://t. me/karthiksCA
(C) Scheme on Rain Water Harvesting

(D) Scheme on Electric Vehicles

Q5wneler saeTLTeT LDUGT GTSEILCT QEmLilyenL_wgl ?
(A) wefls afeir@euef LTSS LLD

(B) Qswpens DanLp DL Lb

©) weanp i GraMiiy S tb

& D) Betramy QU GO BI85 @Y B TEUT G b

o ———
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) 40. Match the following :

~

41.

~.1) Rani Rampal a) Weight lifting
i) Mithali Raj b) Running
iii) HimaDas . ¢) Cricket
iv) Mirabai Chanu . d) Hockey
(A)c, d, a b (B) a, b, ¢, d
©) d, c, a b, (D)d, c, b, a
LereupeucTeupap ClLnmssis : gs?’%
1) gressfl gribLImey a) LIEBHNS SISV
i) tOsmed) prgh b) a®se
iil) aomr smav c) @M&0sL https://t. me/karthiksCA
1v) Wgmumis Fneyy d) amrss)
(A)c,d,a b ' B)a, b, c, d
©)d,ycab (D)d, c, b, a
Which one is required to produce acceleration of a body ?
(A) Velocity (B) Force -
(C) Density (D) Displacement

Epse_eupmier GurmaipE wpBS3sF e gPLIBSHIMG 615 ?

(A) BanaGeusLd (B) alews
(C) Y155 D) QL LiClLwiss ‘@%%
&

42. Which Article provides the Constitutional Remedies to the citizens at the Supreme Court ?

(A) Article-21 _ (B) Article-32
(C) Article-15 (D) Article-18

2 45 BPIOGTDSBGHT apavLd GLeL0&S@FS G STFmwLL FL L ufsrgb QupIasSDHE
abs 2ol afleaians CFLIEDS ? :
(A) 2. piiy-21 (B) epriny-32
(©) emiiy-15 (D) emriy-18+
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Tk t1 : Vegetabl i b ] jable
E 5 gatemen iVeR es and fruits are appealing because of their bright and varia

i colours which are duc to pigments present in the plastids of plant cells.

geatement 11: Chlorophyll is the green pigment of leafy vegetables.
) I uﬂl_\' correct (B) 1 only — https://t. me/karthiksCA
() 1 and 11 correct (D) 1and Il wrong
- pafud ] BTeuré Glessaller seaflsmisaligyder HpLlsaned, &1 515 6iT
LODMILD LIPEISET Seianenrs SaimpLb LIpsTeLmaT L6 6915 Blpriseiley
ST Swef&S et en.
Jraeuib 112 GCamGrmeifeh e1apid Hpd) smishsens@ LimF Bpsas
9ofEEmg). E!ggi
L) Lol e B) Tl i @b &7 Bt
() 1 wppyp s D) 1 wpmiih 1l s
44, Match the following :
; q) India 1) Dollar
b) Australia 2) Rupee
¢) Malaysia 3) Riyal
d) Saudi Arabia 4) Ringgit
E 2.4 B2 1,43 ©1,23 4 (D)4 321
E G\'u.’r.@’ég}& : .
E, a) @B@wm 1) Lmevir
G b) = evsGraedlwm 2) emumil
% ¢) wGe@wm 3) Mwmed

d) sey® HCyrihwim 4) MmGg"

(A)3,2, 1, 4 (B) 2, 1, 4, 3 ©1,234 @O4321

45. Statement I : Since snakes do not have legs, they use their muscles and scales to move.

' Statement I : Movement of snake is called gliding. o
| (B) II only correct P%gzﬁ

r (A) I'only correct 0
: (D) 1and II wrong

(C) I'and II correct

WIERunp 1 : LMbLSE@FEE STV Fev_Wngl. FHTUSDS M SHISTE) SNFEET
dEmens LWETLBSSISEIDe.
Bakg 2eiged eTerLiLi(BID.

(B) Il o @1b &l

(D) 1 opmpib Il seum

i e . s S, L S S B S S T S —
it S ——

wpmb 6FH
UIEGunp 11 ;. LmbL BTG
A) I i Qb &M
O T 11 o

P s e o
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46. Match the following :

(National Parks) (States)
I).Gir a) Gujaral
I1) Ranthambore b) Rajasthan
II1) Sanjay Gandhi ¢) Maharashtra
[V) Corbet d) Uttarakhand
I II 11 v
(A)a b ¢ d
B)a d ¢ b %’%E;I https://t.me/karthiksCA
(C) e d™g % =
(D),c a b d
Qunrss s :
(Cs8w ymism) (LomblevLb)
) & a) GRS
) prsbCLimr b) prgevs e
II) sepas s1ES) C) LOSTITGHLYTT
IV) smiGu d) 2 gsrsmess
I II III 1V
(A)a b ¢ d
B)a d ¢ b
(Cc d a b
D)c a b d
47. Which of the following is an dielectric ?
(A) Silver (B). Copper (C) Glass (D) Iron
BLpgaessi_cupmier LeTGarn_ L gangs sL_gHms ClLmmer eigy ?
(A) Geusirer (B) smblyib (C) sewemrmy (D) @@iby
48. Select the correct answer. %i?{:;

(A) Rajya Sabha — 300 members

(B) Tamil Nadu Legislature — 120 members

(C) Lok Sabha — 545 members-

(D) Pondicherry Legislature — 100 members https://t. me/karthiksCA

Fhwner alev_emws Csiin0)s®.

(A) wrpleovriseraneu — 300 o gy feriser

(B) L& FL1_waipid — 120 2 i festiser

(C) wésereneu — 545 2 myLifewiser

(D) wnessgsGaM s 1_oeiipib — 100 2 myifesiger

—— i —— s Lt s o o e i i

e L, o e S A A e SR S AL LSSl S o, ST T i, 554
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52,

S3.

———,

51.
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which battle was laid the foundation of the Mughal Empire ?

- i f Kl Le
(A) *?_“““i o of P (B) Battle of Chanderi
() First ba anipat. (D) Second battle of Panipat
@”@“‘J”mﬂw gpa;stunu_: Cuoos: erpi_ Dy Gsarh L G 1%l ?
(A) &”GUTG”"T. ur;:ﬂ Py B) a56C8xsM Guimi
(C) epgevmd uimrssiviu”. Gumt (D) @uessri_mib umesili. GUmt
jow many years tenure of the Village Panchayats ? %
(A) Ten years (B) Five years -
(C) 513y ears (D) Two years
gL LIGHFMUISSHIFHMNGT LIGaIEs5mevLDd GTH BN GIT <2,60T(HIFHGIT 2
(A) USSI 2ET(BHIFHGT (B) 081 2465756
(C) 21y 256TT(H)SET (D) @) uesT® 246ET(HH6T
puring the muscle fatigue which acid is accumulated in the muscles ?
(A) Citric acid - (B) Acetic acid https://t.me/karthiksCA
(C) Hydrochloric acid (D) Lactic acid
sazs Gamiadlest GUngl 61bs Lblevib sensFsafley CFHTLOTSDSI ?
(A) fLMé LblevLb (B) <=9 195 LblevLd
(C) eamL” BumBermmils ojLblevLb (D) ewrsigsd LblevLd

Amnesty International is an organisation which campaigns for
(B) Protection of historic monuments

(D) Protection of environment

(A). Protection of animals from cruelty
(C) Protection of human rights
GETGY GTGHIGRILD PGOLOLIL] GTSDHTH LpFsrogb GsFudieaus) ?

2bQewrevry @)esrL_TGHay
(B) eugevndmi FIGSTeSTEIS MG LIMGISTLIL]

(A) Bps ouens SHBLIL
(C) wesfls o MewLoSET LITHISTLIL (D) &HmI @LPed LITSISTLIL]

During the reign of the Buddhist Monk Fahien from China visited to India.

(A) Chandragupta — I (B) Samudragupta EsE
(C) Chandragupta — II- (D) Kumaragupta — I & ;.»,g-.gf;

Wien_uws gypi” & STESHED Gasrremeus Geips ClLIMSSS SHpall LITSEWITEST
QBB wuneln@ eupsTi ?

A) wsewmb sp@r@st (B) #upSSrSLISH

(D) (pSeurLb GLoMIESLISIT

© @ueim_mp sp@o@isT
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S4. Which is the largest oil ficld in India ?
(A) Ankleshwar oil ficld
(B) Aliabet oil field
(©) Gujarat coast oil ficld-
(D)- Mumbai High oil field

QBOwreev 1Bs0Q LM O CuraSw eTevrClewris euiich 618 ?
(A) ym1sCovaveurt eressGemmits auwieh
(B) yewn@ur. erasmQessis auwed

© SIS SL_PEHnT 616550 ewTI QLG
(D) wobews enam srewr@esmis auwed

https://t. me/karthiksCA

i
<
3

SS. Name the upward force exerted by water on a floating or partially submerged body.

(A) Viscous force (B) Frictional force
(C) Buoyant force . (D) Gravitational force G
LséELb jcbag un@werey Fifev epp@uimEEL Qummeflssr LBg) Bunesig ClFesELD
CoevGrré®w elensuicr QLiwi ereias o =
(A) un®wed alens (B) 2_gmiiey aflens
(O) sy aYens (D) yaduiitiy alems
56. Match the following :
1) Shiv Nadar a) Pepsi Co.
2) Narayan Moorthy b) HCL
3) Azim Premji c) Infosys
4) Indira Nooyi d) Wipro
(ALb, c, a, d B)b, c, d a (C)c, b,a d M) d, a, b, ¢
eireupeuaraipenn QLTS :
1) afle pa_mi a) GLIF @upLotb
2) Bagmwess eLpiisH) b) HCL
3) <lb LACLbgl) ¢) @eTCunev
4) @BSom mrud d) auCGomr
(A) b, c, a, d (B) Db, c, d, a Cec b, a d (D) d, a, b, ¢
57. The Commander-in-Chief of the Defence Forces is
(A) The Defence Minister (B)- The President of India
(C) The Prime Minister (D) None of the above '@ﬁg]

LINGISnUL LenL_sofler ganeento BamM wr o

(A) ungsniiy oyemwési (B) @p9w @uwiss samevarrt
(C) Az (D) Cupsaim_ aigiab @)svanev

— o o . ot e, Wttt o it 4 St . it e ' e ——
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_: 81 \fatch the following :
E ! GFCCI}ZC:IEET a) Carbon stored in Industrialized forests

iy Grey arl b) Carbon stored in atmosphere and ocean

[ Blue C“Cr‘ 10;)1 :;) Carbon stored in fossil fuel 4G

\) Brown Carbon ) Carbon stored in bi : Eﬁ’

| U LIy in biosphere

(Ard € b a

wa b d . |

(U b ¢ d a https://t.me/karthiksCA

(D} a b d C

QuIBSSI® -

|) useLbs ST  a) Csmfled MPwns o BeurssLILIGLD Fr(Hseev GshéaLIL@BLD
& TITLIGET

I) ambLed STLGT  b) euelibedm_euib pmyib HLcserlcd CaLblésLILiELD STTLIGHT
) fev S LIGST c) Ogmevayudi Ligeu eTMGILIMIBGT QaLhlésrBID FATLIGHT
) uwuy smiucr  d) o 9isGamengBe Gallgali@LD STILIET
J ] 1IOr Iv
- @ad ¢ b a
- @®a b ¢ d
. Ob ¢ d a
. (D) a B d x

59, Statement I : NITI Aayog
: (a) Is a Think-Tank.

(b) It replaced Planning Commission of India.
https://t.me/karthiksCA

. Statement IT: (c) Is headed by the President of India.

(d) It has established in 2020.
(B) 1I only correct

~ (A) only correct -
(D) Iand I wrong

(C) I'and II correct

bl A 2Cund SPiD
(a) @ PgaT GUNTSL: cE
(b) @BGwmalileT AL GUaIDEG UPVTS o (HeundsLiLL L gl

WG [ : (c) B o CuireHI6T ST G4 WIFS SEeVaI.

(d) B9 %Gmna'@mm BliemruSSILI L () 2020.
) Lo Gup a1 (B) 11 @b &1

" Oluppnnam (D) 1 oppih 1l eupi

—
i et S WS r—



60. F

61.

62.

63.

64.
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or which product Nachiarkoil has received Gl tag ?
(A) Mat (B) Coconut (C), Kuthuvilakku (D) Bronze icons_

Bré&umt Ganalley erhs o PuSHL Quamend@ Lol Fmt GOWIG Cupyyerers 2
(A) umd (B) Gsmismu (C) @sgialardg (D) Gleusnsavd Henev

waves used for cellular phones to transmit voice communication in UHF (Ultra
High Frequency) band.

(A) Radio waves,
(C) Beta rays

(33

-y
T |
e

[0p10)
(B) Micro waves E%’Z
(D) Sound waves
o wit HBQeuair L enr_sefe OrwdL@ slCURUID GId Ssale)

OF (o) e LWGTLBHS DS
(A) Gy Gun 9| GVE GIT

©) S &g 6T

(B) ewiw&Com enevsar
(D) e Hyemavseir
What is virtual water ?
(A) Water hidden in clouds

(B) Water available below the surface of the earth which is not easily accessible
(C) Water that can be ordered online

https://t. me/karthiksCA

(D) -Water consumed in the production process of an Agricultural/Industrial product
DB GTHIDA) 6TcsTaT ?
(A) Gusmgefa LOODBEE (B GLD BiT

(B) yllé@ <yquiedr @Qma@ B, QLeTNGD eTafGleh HlewL_&sg)
(C) wenpserr @evewnueHuins OupLpLg b '

(D) wenppit ereitg efeusmuh gyeveag Clsmplnarene o PLISS ufleT Gung) msTtIL@D
b1t epBi 616 YyenpssLILG RSy

Which of the following exhibit both living and non-living characters ?

(A) Bacteria (B) Virus (C) Fungi. (D; Protozoa

Eipsevn_cuppleh e1g) o ueer LobmyLh 2 ulgHw LT S er ClauefliiLBés1Rn g

(A) ungrefur  (B) eweaugev ©) yerams D) yCur CnGsmeun
EEE

Who discovered Blood Group ? E%g

(A) Louis Pasteur (B) Banting

(C) Holst (D) -Landsteiner

@135 uesLIumL e SR SFeur wmi 9

(A) grdlev Lmeviguwir (B) Guatrig.mi

(C) Cammevarvr (D) Covesr avQ_ud Q)i




E)i; cement 12 The combined f
. St orees of the Deccan Sultanates defeated Vijayanagar in

02
t 11 °1;£S ‘:fli) (CE) at the Battle of Talikota
gt:lli'"w“ . Ihe Vijayanagar empi .
Chandragir. pire then shifted their capital further cventually to
\) | only correct
(.L') | and 1 correct . E?); 11 only correct https://t. me/karthiksCA
[and Il wrong

ra@up L lﬁ.nig:;g) 15.65 - & emasCammL Gumild SEEMER
. ouid 11 : aflguw o BLOUUmL afgupsy A7 Ganpsu s
PG : .F;‘E’ Eﬁﬂ.u Gupra Csmevelsgr e GnBuns &3 SVFHDT
s6SIBMES L1pHug.
(A) 1 oL (B) II wot" (B &f Eﬁ?
(C) | DIt e (D) 1 wopmyd 1T seumy A

\ what temperature will the Celsius and the Fahrenheit values be equal ?

60.
(\) + 40 (B) + 1000 (C) 00 (]))~ __400
éljé @mﬂuﬁmwu&?@ ClFalwen SeTQLD UHD'G&TML'_ ngITQbe FLOLOTS @@5‘;@1}3 9
(A) +40 (B) +100° () 0° (D) —40°

¢7. Dr. Verghese Kurein is the Father of Revolution.

(B) Green Revolution
(D) Red Revolution

o @uller FHmS e SyeLpdsLl

(A) White Revolution.
(C) Blue Revolution

earat @ @Mwelr erarLm

LS.
(4) QeauamenioL! Y& (B) ugeLoLl oL@
(D) QauiLt L&)

(C) pevLs L8
68. Where is Manas Biosphere Reserve is located ?
(A) Assam (B). Meghalaya
D) Himachal Pradesh

(C) West Bengal
LGLD 6TEIG SyLopEIaTaTg! ?

wenay o ufiisGETaS &Ll |
(A) gyevevLd (B) Guamawn
(D) @)omése 9gGaeLb

. O Guwps QURISLD
. became the first Furopean power &0 establish trade link with India.
~ (A) Portuguese (B) Frenc g [}\‘
. () Danes (D) Dutch O
L1 sGymiifiw B gl

- @iBureyr el 2 ped Aol & ; ;
e () CumiggBPw (B) d@g@&S{Tﬂﬂ
o (D) L F&SHESTI

€ Craflagmt —

- _..p.-uﬂ'""“'-
e p——— pr—L o b
e - - -



70. World AIDS Day is observed on

(A) October -2 (B).December — 1
(C) January - 26 (D) June-5
2.6v& 6L 6V HGLD 9JeqIFMGSLILIBILD BTG
(A) K&CL_mui—2 (B) &b —1
(©C) geweuri — 26 (D) gg®air — 5
https://t. me/karthiksCA
71. Statement I : Lapse rate is the decrease of Temperature at the rate of 6.5°C for every

1000 meters of ascent. :
Statement I : Jet streams are the fast moving winds blowing in a narrow zone 1n the

upper atmosphere. g@i%}
(A) I only correct | (B) II only correct [Elews
(C) Iand II correct = (D) I and II wrong

* Statement I : Qauriu@opey al9sb eeTpred @aGleaumes 1000 LB i 2 WISSHEGLD
6.5°C e1atip a9%559 60 GClauliLiflenew GepuyLb.
Statement I1 : euafloan_wsSer o wir HBEGSMD GnPW UGBSy Carsons
BE@LD STHMIS6T “ClgoL” STHMISET’ 6T6sTH LD,
(A) 1 o1 b &M (B) Il ol @b &
(C) I wopayib 1T &l (D) I pmib 11 geumy

72. StatementI : A Town Panchayat has about 10,000 population. It is between a village and
a city.
Statement II : Those areas which have a population of more than one lakh and high amount
| of revenue and is found in the level below the City Municipal Corporation
is called a Municipality.
(A) I only correct (B) II only correct ,
(C) I and II correct (D) I'and II wrong

aungGuwib I : &womi 10 guigd Guii eunpddniqw 2agns @)FpSme0 Gemm &
ereTILBID. ()& BHISHDGLD, FIMo@D@GLD @eL il L oen.
aungSuwib I : wipsrl 8@ HBS5 BHlawiiled, @b WL &S558 SSL0TeT
Wé&er GClgmeansiuL_cir, euBeuTl HYHsb @) rEGLD 2aigsen BHITL G
eTeuTLILI(H)LD. @gg]
(A) | w®b & (B) 1I o @b &M DR
(D) I wopmib 11 saugy
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’ J In Wh]

[ .h district of Tami
=3 ch district of Tamil Nadu, G. Nammalvar a supporter and expert of organic farming

{gunded Vaanagam ?

i https://t. i
( A)}}\arur (B)' Salein | ps me/karth|k'sCA

akkal :
(€ Namakka (D) Tirunelveli /

\wHEE G?Jm”mmw@@‘i? USTQUTOTT opmIh eucveyETeT GST. BLOLOTLHOITT
enHLh CTEID SN SLBpBTL” 19 6b e181& Blpyedlermi ? ELE

(A) &@ﬁ. . (B) Gsevid | %’%ﬁf

(C) DS (D) DGOFHCaES |

N Countries where Tamil is an official 1ahgﬁége are
(A) pakistan and Nepal

‘ (B) Canada, Malaysia
() Mauritius, Seychelles

(D). Singapore, Sri Lanka
1P Saeued Glompfluns o eirer @ ser
(A) ur&evgrest, GpLimerth

() Oumiaflwav, ClFayeve

; BGL
(B) sar_m, wGeavFwim

(D) @rsriyt, @ewnions

75. Colour of the sun appears red at Sunrise and Sunset because of

(A) Mie Scattering | (B) Rayleigh’s Scattering

(C).Raman Scattering (D) Tyndall Scattering

@M o Swib LOPHMILD wenpaller Gurg @&Awer Aauliuns ST Gwalss HTIewTLD
(A) S-paflddsmed o i (B) gnGev gafléfzmed

(C) @umweir afld&gped . | (D) &y @aflFfgsmed

76. Which layer of the atmosphere protect us from falling meteors ?

(A) Exosphere e y _(B) Thermosphere

(C)-Mesosphere (D) Stratosphere

afleiGleuafufeSm b @ILpLD SamapseledBis B LMSISTESGD ABSS gl ?
(A) Qeualw@®o@ ~ (B) GiLsBSG

©) @QoLw@ss ' (D) uerLw®sS

1. Which of the following is not a condition for becoming the citizen of India ?

(A) Birth (B) Descent '@55]
(©) Acauivs (D) Naturalization Br
-Acquiring property

Spsaain_mouseicy 615 PO Ol s o i
(A) O Gair ipast (B) aubem euifluflet epeuid
(C) QsnggManio QIDIAISET eLpGULD (D) Quedy Gyilenwo epevtb




78.

795

80.

99- A

Statement I : Acid rain is caused due to the presence of Sulphur dioxides and oxides of ;‘%h
Nitrogen in the atmosphere. @P]Sggj i
Statement II : Acid rain is helpful for the growth of marine life. GES:
(A) Statement I is correct

(B) Statement Il is correct

(C) Statement I and II are correct

(D) Statement I and II are incorrect

Fnpmy 1 . gilevibanyp auall LoaRTL_ w6 2 iTar FeLIT L HSF(D) LoDMILD
@ BL T I6T L &FHSETTED 2 (HaUTSDSI.

Fampmy 11 : sLeb B eump o uierrIser euenids@ ILbleLoanLp 2 50 GGl

(A) &pmy 1 &l

(B) wmnmy 11 &M

(©C) &pmy 1 wpmib 11 &l

(D) i T toputd 1L sougy

https://t. me/karthiksCA

Statement I : 44" Chess Olympiad games held at Mamallapuram near Chennai

during 2022.
Statement II : Chess Olympiad games are conducted once in 4 years.
(A). I only correct (B) 1II only correct
(C) I and II correct .- (D) Tand II wrong

aung@uwib 1 : 44 augl Ceav @edlblwm’ Curiyser Gleadreneaow B SS
oo gé&ev 2022 b auBLLb Fenl_OLDDSI.

eung@uith I1: Glgav @allibliwm’ 4 YaEThSE5ES RUHBULPED BLd@tb Gum’ g uimELb.

(A) 1 o @b & (B) 1I 1oL" @b &1 @5E
(©) I opguin 11 #f D) I wppib 11 seugy e

In which district is Pulangunichi Inscription found ?

(A) -Virudhunagar (B) 'i.:futicorin

(C) Tirunelveli (D) Sivagangai
LoiIGHIEE se6laul (B Sawdl_ PSS L WAL L Lb 615/ ?

(A) aNmgupat (B) gnss156L-
(C) OB Gaual) (D) Peusmiens




